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FERiEE (Lipase, LPS) YEMRAF AU

SIEIEBEHE 50 /48 K

wOR . ERNE AT 2-3 AT ZE R R BRE AN e

MERX:

LPS SCHRH- i BR /K el AL H I = Ba /K A sl MR AN H il (ol H i —BE RS lzD . LPS 2 (e T
BRI F . ML LPS 53 i H LT R AR AR o

e S 2
LPS {HEAL M g A e RS M 1R ) PR 4 P2 020 5 AR R A S =, BRI U5 LPS i
B & AR i -

Wk, RBONL. EHRAMS. HEEET. ImL Bk, mRAR . F2E 100mL. VKAl

7&K

A R AT ] «

RA—: Wik 90mLx1 i, 4°CHRIT,

BRI WA 14mLx1 i, 4CERAFE. BRMAATTARZRSIBREIZURY 20min.

WHA=: P 100mLx1 i, 4CHRE (BE).

WAIPY: Witk 20mLx1 i, 4°CIRAF.

BRAES: VAR 10uLx1 #i, 10 pmol/mL FIFRAEVW, 4CHA7. KSFIBTAMA 3.168 mL H¥, FHVEM.
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1 8L BIRAGURER (g) « WA —fRBI(mL)A 1: 5~10 BB CRBFRINZ 0.1g A2, A ImL i
F—) BHTUKIEAIH . 12000g, 4°CESC» 10min, HX i B ok 4500,

2. HR. AW HERARSeE Q00 o BWF A (mL) A 500~1000: 1 BIECET CGE2IX 500 J34HHE
TIN ImL AR, VKA RS P A R0 I (Bh R 300w, 875 3 B, [8]f@ 7 F2, B8] 3min); 485 12000g,
4°C, B0 10min, B EIEE TUKER.

3. MIESFWAR: BRI,

LPS U #/E:

L. 2GRt 30 min BA L, HFTEKE] 710 nm, ZR/KIAE.

2. WA — AR = E T 37°CRIB T 30min LA L.

2. 1£ SmL EP & HKIINN T FR )

BABFR (uL) FHE W5 5%
2K 375
Pk 125
R — 750 750
A 250

37°CH#R¥% [ BE 10 min

HA= 2000 2000
37°CHRY% %% 10 min f5, 8000g, 25°C, 54> 10min, HU &

WA FR (Ul =L e b

LiEW 1200 1200




T— x 7% E A
N w—reagent.corﬁ

FrUE 1200

RSFIPY 300 300 300

37°CHR% XL S min J&, #E Smin, HX 800uL ZWOMA 1 mL BEFSLLEAIL, T 710nm b3 5 6 (E .
TR ZAENREERFIE—RK.
LPS EHEHHEAR:
1. A4, MR LPS V&

(1) B EE R T
TR E X 37°C AR T AR (R B K AR AORS i A A 1 umoll Jig R R — AN S AT
LPS (umol/min/mg prot) = [C FrifE i x(A MEE-A & HE)~ (A FRHEE- A TAE) <V &+ (CprxV )

+T
=l6x[(A MEE—A FTAE) (ARHEE- A TAE) +Cpr

(2) #HFEA B
TERALE e 37°C Hr g s A SV A Bl K RO T A B 1 umol Ji I R A — A S B
LPS (umol/min/g #£H) = [C Ardfhx(A MEE-A THE ) (ARHEE- A TEE) XV R+ (WxV H+V

BEED =T
=l6x[(A MEE—A FAE) (ARHEE-ATAE) =W

(3) F MR BLE A M
TGV E X 37°C AR 104 NI A o b K SRRV T A6 B 1ol IR 7 1A — AN S B4
LPS (umol /min/10%cell) = [C Rk ftix(A MEE-A T AE) (ARHEE- A THE) XV i+ (G

xV =V ) =T
=16x[(A MEE —A FAE)- (A RS- A TAE) =R
2. MiESEWR LPS &
TR E X 37°C AT LT R/ B K AR AOSS it A A 1ol Jig 8 R — AN S BT
LPS (umol /min/mL) = [C FR#E i <(A B —A TAE ) (ARHEE- A TEE) XV V=T
=16x[(A MEE —A THE) (ARHEE-ATHE) ]

CAr#Efh: 10 pmol/mL; V Jid: RALEARF, 2mL; V #E: R AFMAFEARMEE, 0.125mL; VAL
NPRBUGBAR, 1mL; Cpr: FISWEAFIKE, mg/mL, FHEBINIE, @BUEHAAT BCA EHAR S
MR W FEAUE, g T fEALRBIEE], 10 min.



